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) MNote to tezchers and parents

Developing mental arithmetic skills

Automatic response—the ability to quickly
recall basic mathematical facts, or to apply a
known fact to a slightly modified situation or

The development g C
t

hand-held ca diMtin th
ignifi at mental arithmetic

: the contrary, the
chnology has increased
0 mental arithmetic skill

students. Without relatively
eglicnation prior to calculation, merely

ing afiface value a solution on a screen

t with danger. Inadvertently hitting
e wrong buttons on a calculator is a commonly
beeurring fact of life. The result on the screen
shoul
onsi

lculations secondary school students complete
on the calculator, the validity of this
be readily perceived.

of primary school, a student should
abit of estimating and rounding off
#g a calculator for computational

tion is reliant upon a sound

devote to looking up answers on a screen, in a
book or on a chart. This point is demonstrated
graphically with the game of ‘beat the
calculator’. Line up your students in pairs and
tell them that some maths questions are going
to be asked of the students who progressively
come to the head of the line. Offer a calculator

or
n tsl
f the

e

“‘or:reyiew.pu

to one of the two students. Both will want it but
only allow one to prevail. The other student will
complain about how unfair the game is until the
rules are made clear. The student with the
ulator must press the appropriate buttons

and

studants questioMgthey should be able to recall

relatiWe kly, suchag 2 x 5 or 7 + 4. Now

wa e a alculator complain
.F

that the gam
an encumbrance: i
see who is first with
student using mental a
competent, 350 - 35 = 3
one lot of 35) might still be
9 x 35 = 315.

It is also the case that the fas@t?d is

with his or her basic number fd
is the likelihood of structural computationdl

success. Algorithms, such as long multiplida
stages. students with inallequate @lental

arithmetic skills often take so long to reca
basic number fact that they forget ‘
of the algorithm that they are p8 i
through. For these students the%ﬁs /
foundation of times tables kno
inadequate—it is like trying
foundation of sand. Witho \
prerequisites of numberfa
the algorithmic "hou

calcul@tor's

derive from the discipline. The message is
clear: regularly practise automatic response
games and activities, chants and rounds and
all will benefit. Try to teach these number facts
in as fun and meaningful a way as possible.
Incorporate concrete materials and incentives
into your number facts lessons.



Above all, teach for understanding. When
teaching the 3 times table, show that the digits
in the multiples will always sum to 3, 6 or 9.
Show that the answers to the 9 times table
always sum to 9. Show that adding on 8 is ng

B oack 2.
ilo" stands
ofBe
na

e
10 of TNT

1000 grams in a
kilometre and,

ber-facts-recall easy

enough to find. Make
@ strate them at every
OMnity. This book and the other

ies will show you how.

this book

the eff@rt to

books i is

strficture

matiFsponse capabilitieg,demands a
tal aMth

uld encompass the full range of the
curriculum, covering measurement
s, data and chance questions as
roblems.

this series assist with the
aental arithmetic skills in a
manner. Each book in the
ofework. Each unit

over for homework. Alterfadi
week could be devoted to the
the six sets.

Each exercise in the book focuses on a specific
concept, such as multiplying by multiples of 10,
or the properties of 2D and 3D shapes. The
exercises have been set out in a logical
sequence according to topic, for example times
tables should be taught prior to the concept of

he cl
The $€o

a common multiple; the concept of one-tenth
should be taught prior to the first decimal
place. However, the order in which the exercises
are completed can be varied to suit the needs
our students. The exercises are at their most
useful wiemigked to the topic under review in
sroom at

sequent

ok
O B
relevant as possible ats’ individual
learning capabilities. Q
At the top of each unit o ere § a tip for

the students, to help them wo Bud
exercises in that unit. At the 159

front co%er
for the use of

The Handy maths facts on pag”re
included as useful reference material for
students.

scores on the unit exercises and to rate thg
own progress and performance.

A list of answers is found in the i@
book and can be removed and s i
deemed appropriate.

The terms used in thj
The questions presented %‘
wide variety of mather@icabsle

designed to reflegithe §tru

ot addition will have obvious benefits
when a student has to tackle an addition problem
set in context, or when problem solving.

A Glossary is provided on page 72 as a ready

reference.




Metric prefixes

kilo means 1000
eans 1 000 000

=7 . <
Metrie e\)uwalence

1 kilogram (kg) = 1008

1 litre (1) = 1000 mL

“For:review purposes only

4 x
5 x
6 x
7 x

8 x
9 x

11 x

Ed

P‘ace vaiUe chart

Tests for divisitility

All whole numbers

4 divides into last 2 digits

Numbers ending in 5 or 0 . CU
Even multiples of 3 \

Double the unit and find the differ
this and the tens. It will equal 0,

[t O getOor 11

Numba“ €' 3g9nd 4 x tables

8 divides into last 3 digits

Digits sum to 9

Numbers ending in 0

Subtract umts fro

s Period
Thousands Period One —
hundred tens units hundreds tens
undreds
4 9 3 8 1 5

Four hundred and ninety three thousand, eight hundred and fifteen




A

triangle adrllater pentagon hexagon

heptggon O octagon nonagon decagon

...........

triangular-based
pyramid

triangular prism

rectangular prism ‘

square-based
pyramid




@ How well an | deing?

After you complete each set of work, fill in your score out of 10.
At the end of the six sets, rate yourself in the following way:

| = Can improve; E = Encouraging effort; 8§ = Strong performer; H = Hero!

]

tD

E |SetF

My
Rating

Unit Topi€® *
1 Additigf: Addin@\1
to mffitiples o
2 ditio
ddingg2- numbers
3 SubtR@gtigh: Subtracting
0 from multiples of 10
4 btra@tion: Subtracting
2- numbers
Multiplication: The 1 times
@™ times tables -
ul tio
to 12 times tables
iplication:
iples of 10
8 Diwigion:
of 1to 6
NS
Di to 12
10 | Divisiong .
Dividing ti 10
11 | Multiplication™ufti
and common multi
12 | Division:
Factors
13 | Doubling
14 | Halving




Unit Topic Set A| SetB|Set C [SetD [SetE |Set F | My
Rating
15 | Place value to 1 million
16 | Rounding off to 10 000 J
]
17 | Fractions:
Fraction of an am
r\
18 | Fractions: Egffivalen
and simp#€st for
19 | Decipfals an
fraglion e lenges
20 ecimals:
Addi ubtraction L
21 Seguenees F
2 r strings \
th and perimeter: 4
an
rea:
ncept and application
2 N
its_ and conversions
26 apfacity/volume:
i d conversions k
27 | Time? Mal and
anal ersions
r3
28 | Time: C{/
Unit equiva )
29 | Money: Making a ,

addition and subtractio

30

2D and 3D:
Properties and directions

31

Chance:
Concepts of likelihood

32

Revision: All sorts




Unit 1 Addition:

=40 <o ﬂUl‘tiF

Questions like

30 * |2 are most
easily done mentally,
left to right.
Make the ( 1=
30 + (O + add 4 70+15=
é 5 50+17=
t

0 6 80+17 =
7 60+19=
0 8 30+19=
9 50+16=
w0 80+ 18 =

Fomkeview purpoes

Find the sum of 20 and 31
What is the total of 70 and 12?

What is the total of 40 and 11?

o 80

/ %}7
) a\//tab‘m ogether? . 00
6  Find thug 5E@a‘\
7  Whatis 30 plus 12 plus 207
8 s the total of 20, 30, 10 and 17 equal to 87?7 ____
9 Add 13 onto the total of 40 and 30 ___

Find the total of 20 and 10 and 30 and 16




<b

1 10+10+ 14 =

! 18+20+20=D
2 10+20+13 =

2 11+30+40=D
3 20+20+ 18 = 3

17+2o+3o=D
4 20+40+ 18 = ; 12
+30+50=

5 [ ]
6
7
8
9

or review purposes only

1 | had 14 basketball cards and then bought 20 more. | now have ______ cards.

2 I3 degrees and rose 20 more degrees to reach a top of _____ degrees. _ (U
3 Dur fi hree batters scored 20, 15 and 40. We were 3for _____ runs. \\
4 saw 30 chestnuts, 10 greys and 14 browns. | saw _____ horses altog%

5 are 40 right- and 16 left-handers. There are _____ Year 5 @

6

video games.

My purse¥gofd ;@ nd a $50 note and $13 in change. | have $
7 5X own 40 vid3g é?ﬂ 5Y own 17 games. Betweenm theg ¢
8 In our first three netbaMgamds wl séU@&XA)

We have scored goals

in total.
9 The three rainy days this month produced 11 mm, 40 mm and 10 mm of rain: a total of mm.
10 My mum owns 30 pairs of shoes and my dad 14 pairs. Between them they own pairs
of shoes.

NSW: Number NS3.2; Qld: Number concepts N4.2;
Vic: Mental computation and estimation 4.2; WA: Number N4.3; SA: Number 3.8




When adding 2-digit T 17+61=
humbers mentally, 2 254+54=
start with the tens and
then add the one
for examplg

Find the sum of 27 and 32
Add 52 and 44

a} is the total of 73 and 417

/ equals ___ .
Find the sum of S S"amelaba ¥,
Add 83 and 66 together ___ %
Is the total of 64 and 41 more than 100?

77 plus 52 equals

What is 24 and 92 altogether?




65 and 42

73 and 42
Find the 81 and 31
sum of:

66 and 53

83 and 54

94 and 52
77 a8 52

0o N O B~ ow DN

and

—_—

LI review.purposes.only

2 and span is 15 cm and my dad’s is 22 cm. Between us, we span _____ cm.
3 @/n 23 pets and 5Y own 42 pets. The Year 5 total is _____ pets. 'LU
4 tis 24 cm long and my mum'’s is 25 cm. Together our feet stretch ______ c@
5 Ot rs cost $57 and $32 to fill with petrol, a combined cost of $ &k
6 The g al@ shot 33 goals and the goal shooter 54 goals. Toge’cherer ggfals were scored.
7 Our two & @} t $24 and $41 to fill. Dad had to pay $ %' em both.
8 Mum drove 34 Rgg ye n km gtoday. The t| o g km.
9 My two maths books are%é4 Educga? pages altogether.
10 The Guides sold 84 sausages today and 65 yesterday, a total of _____ sausages.

NSW: Number NS3.2; Qld: Number concepts N4.2;
Vic Mental computation and estimation 4.2; WA: Number N4.3; SA: Number 3.8



(30 -8 =

For questions

such as 40 - (8, take the
tens away first (30) and
then take away the yg

For re(;ié’vii'ﬁlrpo

3 tens -1 ten and 6

tens — 4 tens and 4

e

5

6

7

8 8tens—3te@16
9 7tens—2tenw ‘
10

9 tens — 3 tens and 7 l

] Y

10

What is the difference between 50 and 14?

N
o

Take 17 from 70

90 minus 16 =

@}e erence between 60 and 14 equal to 70 - 2%
31 qual dlﬁere“@

Are 80 — 17 and 70 - 27 equal differences?

Take 1

Remove 12 from 90
Remove 18 from 50

Reduce 70 by 13




50-10-10-4=

70-20-20-5=

80-40-20-7 =

40-20-10-2=

"FOr review ‘purposes onl
| shot for goal 50 times at training and linissed on p_(gasmns. I scorep gyls.
he 60 children in Year 5 were ill. children were at school.
O

1 our 60 DVDs are concerts. ___ of our DVDs are not concert discs. \\
5 2 fewer smart cards than dad. Dad has 30 cards; mum has __ c@‘
6 eighed 90 kg and then lost 18 kg on a diet. His current weighjss
7 40 CDs, 18 of whichare R& B. _ arenotR & C@
8 14 of last e calls were for mum. ____ calls wer o fim.

h !
9 18 of the 60 poin Q@erscdctj@‘a‘:\@o

the other players.
10 | ate 13 of the 50 lollies in the lolly bag. | have lollies left.

. ///M\sq@ ;
- b

NSW: Number NS3.2; Qld: Number concepts N4.2;
Vic: Mental computation and estimation 4.2; WA: Number N4.3; SA: Number 3.8

points came from




it 4 SuleraStion:
Unit .,‘ng U}%‘Eggg;?t' ':Wn‘:ef's

The best way 1 70+4-20-2= D

to do questions
-30-3=
like 87 - 52 is this: 0 +8 D

Tens first

© OV o N o0 U b

|
-
D

Remove 12 from 78
Reduce 84 by 22

Subtract 17 from 98

Reduce 75 by 14
Subtract 15 from 68
Find the difference between 77 and 11

Take 18 from 69

—— éL/'.DE P




Set c Answer ‘true’ or ‘false’

to these statements.

21 =52 -11 1 7 tens and 4 ones - 3 tens and 2 ones
1 62- = - .

2 8 tens and 6 ones — 5 tens and 4 ones

78 — 54 = 68 — 44

ans and 8 ones — 2 tens and 5 ones

64_22:54—12

tens and 6 ont 4 tens and 1 one

98 — 76 = 88 — 86

es — 4 teMg and 3 ones

7 tens and
8 tens and 5 ones - 8te

6
7
8 6 tensand 9 ones - 2 te
9
0

2
3
4
5
6
7
8
9

8 tens and 8 ones - 4 tens and} s

5 tens and 8 ones - 3 tens anc&s

_

1

10

&Dreview

12 of my 23 items of clothing still fit me. | will have to give away

s of clothing.
of our 46 tomatoes are damaged. tomatoes are in good condition.

98 plants in our garden are trees. _____

#f gold coins. ____ are silver coins.
6 14 of the 57 % r@ﬁ?w so cansier @
duce

7 Dad blew out 36 of hi
| used 31 of the 52 cards in the deck for a card house. cards were not used.

17 of the 88 books in our house are sport books. books are not about sport.

University lasts for 31 weeks a year. weeks are holidays.

NSW: Number NS3.2; Qld: Number concepts N4.2;
Vic: Mental computation and estimation 4.2; WA: Number N4.3; SA: Number 3.8




Unit O Multcﬂ'cat'on.

'Fhaé; 1“) c; ‘t"nehs

Knowing that
any table that uses an
even humber must give anh
even answer, like 2 x 4#8r
7 x ©, might helgou
learn your jébles

4 1x5=|_|
s 10x1= | |
s 6x6=] |
7
8

Remembepfalso
odd answef will gal 9

from ;
9x3= D

ano@ner
il 5 .
o sx2= |

Fonrevieiv filirpose
O

Sct €

8x4= D

10 12x3=

Find the product of 12 and 4

Multiply 3 by 1"

Oeven groups of 2 make

5
6
7  Find the product ol
8
9

|mes wwelve equals

equa\

Multiply 3 and 8 together

Twelve pairs equal

X

10 Five multiplied by itself equals

-—-"‘M-- .




ew purposes o

@4 sporting houses in Year 5 have 10 children in each. children play hotbsp rt.
L J
3-legged stools have legs altogether. o~

ickens will provide drumsticks to be eaten.

r :
ere bought for the party. We had ﬂsElt Ether.
.
o[Vl
SBysein o 4 "Separase®®Ccasions. We had rainy days.

9 Nabil had 7 pairs of pigeons; birds in total.

8 Last month it rained for

Sam scored 5 out of 5 for his 10 spelling tests; a total of out of .

NSW: Number NS3.3; Qld: Number concepts N4.2;
Vic: Mental computation and estimation 4.1; WA: Number N4.3; SA: Number 3.8




B Unit 0 Multipliation:

. ]
i tines to tines taﬂe

@ 3

1T 10x12=

The

Order in multiplication
doesn’t matter, so
once you know the
{ times to © times
tables, you alrggy

know half the ghswers
to the tahj€s fr

7 times i 12 tj
Half th€ bat

alreg U@on!

2 11x10=

Find the product of 4 and 9
7 groups of 11 =

Multiply 3 by 8

Does 12 x 9 equal a 3-digit number?
Does 9 x 11 equal the biggest 2-digit number?
Seven groups of 8 equal

Find the product of 8 and 7




1 5x2x9=

2 3x4x11-=

3x3x8=

For review nurposes only

My 8 dogs have a total of legs.
iy

My birthday is in exactly 7 weeks. | must wait days. S

| collected 9 dozen eggs from the farm. | gathered eggs altoget

@d a 10 kg dumbbell six times. | lifted kg doing the exerc%'

tripods contains legs altogether. 0
C
e //ontains nine $5 bills. | have $ to

9 When | turf ,

S

The 7 octopuses in

Here
CHookY CHook

NSW: Number NS3.3; Qld: Number concepts N4.3;
Vic: Mental computation and estimation 4.1; WA: Number N4.3; SA: Number 3.8



When multiplying
multiples of (0, find the tables

rk Qme

@mndred,
tens must

er@undred.

Fonsevic' Bilrpos

Find the product of 20 and 80

Multiply Sby40

How many are 12 groups of 30?

727 20 and 20 and
6  Multh /7 E

7 400 x 400 = 16 000. True or false?

8 How many are 20 groups of 20?
9 70 times itself equals

10 10 times itself times 20 equals

mes7equals




lympic swimmers finish thirty 50-metre laps a day. This equals
ack of forty 50 cent stamps costs $

chool has 15 classes of 30 children or

runs.

@3 north Queensland.
*
s Y& f//d over 100 x 110 runs for Australia. Thi

A grid of 40 x 40 squares would contain squares altogether.

Thirty $20 bills would equal $

Aboriginals have lived in Australia for 400 centuries. This equals years.

NSW: Number NS3.3; Qld: Number concepts N4.3;
Vic: Mental computation and estimation 4.1; WA: Number N4.3; SA: Number 3.8




Knowing your tables
will enable you to divide
as well. If you know that
S x 6 =30, you wj

Find the quotient of 28 and 4

Divide 4 by 2

9 5 goesinto 50 times ‘
10 42 splitinto 6 equal groups equals i Z
7N




For-review-purposes enlymrs

The 24 points we scored in basket ointers. We scored

@&des are on rectangles
e have 12 children at school who are twins. We have _____ sets of twins atﬁs@

children in Year 5 were put into 5 teams, with

ere packed into half-dozen sets. There were _____

ps equal sets of stumps.

gs at a rate of 3 per day. They Iasted fo

- Eercal

hand%®

9 20 children paire

10 40 fingers are on ____

NSW: Number NS3.3; Qld: Number concepts N4.3;
Vic: Mental computation and estimation 4.2; WA: Number N4.3; SA: Number 3.8




Remember

that if you know that
8x9=72,

two division facts g

120 + 10 =

32+8=

88 +11 =

99 +9 =

7+7-=

60 +12 = 10 35
"0

For kevieW purpes

é Find the quotient of 45and 9 ____ %
Divide 21 by 7 ,é
120: how many twelves? _____ 0@
70 equals ____ groups of 10 v

Sspllt into 8 equa

Find the quotient of 108 and 9

8 Divide 28 by 7
9  96: how many twelves?

10 110 equals groups of 10




®

1 144 + 12 + 3 =

2 5h6+7+2=

3 64+8+4=

120 =+ 10 + 3 =

h3

9 84+7é
?

10 99 = 11 +

A

aD
. For.review.purposes only

2 It was sunny for 42 days in a row. This equals sunny weeks.

4 biscuits were packed into boxes, each containing 12 biscuits.

90 cm ribbon can be cut into 10 cm strips. (D:
\des are on octagons. k

@ 0 songs on CDs, each containing 11 songs.

ildén 7 90 lollies so that they each received 10 lollige”
e

; e teams of 7. K O(\
9 96 apples were plitw oEdle_A:G&w g@80zen apples.

10 55 Year 2 children were placed into

teams of 11 for tabloid sports.

[e]

° o
1*
: \

NSW: Number NS3.3; Qld: Number concepts N4.3;
Vic: Mental computation and estimation 4.1; WA: Number N4.3; SA: Number 3.8




Because division

is the opposite of
multiplication, dividing
a multiple of 10 is thg

For 150 + & fi
division fa

Find the quotient of 200 and 20

%2 How many 7s go into 2107

Split 150 into 3 equal groups

4(/ 180 by 90
S ny gr ,

Find the quH

How many és go into 1807
Split 770 into 11 equal groups
Divide 220 by 2

How many groups of 8 go into 3207




5 S

1 120 + 6 + 2 =

2 120+12+5=

3 240+3+10=

ve $2.40 in 20 cent coins. | have 20 cent coins.
I e $6.00 in 50 cent coins. | have 50 cent coins.
éany $2 coins equal $2407 __

F %/ $5 notes equal $550?7

5 HowSgpa jogls of 30 days are in 330 days? 0

€ of 30 students. \

m will | need to take to travef4

There are 270 cF in hewm@

640 kg of potatoes will be In Hags, € Weighing 8 kg.
120 L of milk will pour into 2 L bottles.
80 runs in cricket, all scored in 4s, means boundaries have been struck.

NSW: Number NS3.3; Qld: Number concepts N4.3;
Vic: Mental computation and estimation 4.1; WA: Number N4.3; SA: Number 3.8




Multiples are very
similar to tables.
The third multiple of 11 is
33 because 3 x Il =46,

A common multiplg#of tw

numbers will b€ foun 4
ta}Q
5

both thg
Forgexampl

antA-

For re

<._

Which table has these
Set l\

numbers as multiples?

6,24
5, 50, 60
63,72,108

77, 99, 121

22, 28, 32

7,11,19

144, 60, 48

24, 32, 44

10
77, 28, 84

eW purposes.t

1

2 11?D

Se‘t B What is the 8th

multiple of:

72 | ]




@ Which multiple
does not belong?

1 7? _  and =
e 2 2?2 and = D— T 3,12, 22 30 D
the 5th and 3 92 and___ 20 2 8,16, 29, 32 [ ]
the 12th —_—
multiples of: 4 11? and = 3 20, 30, 45, 41 D
5 4?__  apg” = 6. 50, 132, 144
6 8% a 14, 22; 49 D
74 5? n -D = 6 9, 7
8 and ____ = 7 24, i
Q and ;%ﬂ:l“—g‘é 8 72,32, 4&
Q Y and E—Ej 9 110, 85, 30,720 4 ¢
5 10 19, 28, 56, g4
=
| FOE-review.purposes only
2 What is the first common number in both the 4 and 6 times tables? __
3 @nd multiple of 12 equals the 3rd multiple of _____. .LU
4 d multiple of 8 equals the ___ multiple of 4. %
5 D e tenth multiple of 3 \k
6  WhaW '@ d common multiple of 2and 57 __ 0@
7 Is 27 a mWti /3' 9and7? v
8 Is 30 a multip

9 Is 22 a multiple of eit

1 EgucaiSs

10 What is the closest multiple of 8 to 437

Vic: Mental computation and estimation 4.1; WA: Number N4.3; SA: Number 3.8

NSW: Number NS3.3; Qld: Number concepts N4.3;




Which numbers have
the following factors?

A number's factors

divide exactly into the
humber without a

remainder. The factg

\ g
of 6 arel, 2, 34Md 6 (
because they dm* 4 7and1 D
2' 81 4 and 1 D
101 2, 5 and 1 D

into o. Nurglbers 5
and 8 hffve com 6
Numbg&rs with two 7 5,25and 1 D
fagton are Bhlled 8 91
: and 3 D 2 18
9
3 24
0
| |

and 4

factogs of .
drime rs.
81 41 16,zand1 D

11,33, 1and 3 . 22
F e » éS4

1 6and12___

-~ 2 2and8___

Stk sand9 \/hoo\

What are the Nighe // 10and 15 ____ (
common factors 8 a '
90
‘Edu t"

these numbers?
44’

L 3 and

v
7 8and12 ___ <
8 5andl12___
9 8and20___

10 20and 50



D A\

Ar
e these Numbers prime»

What is the
second-highest

factor of:

Is 12 a factor of 100?
|s 8 a factor of 327
/ ;@ both 2 and 4 factors of 16?

%nd 12 factors of 457 _____
i /Itfa of 607 . '

8 What is the second-highest factor of 607

7 What is the

9 Is 15 a factor of 607

10 Does 60 have more than eight factors?

NSW: Number NS3.3; Qld: Number concepts N4.3;
Vic: Mental computation and estimation 4.1; WA: Number N4.3; SA: Number 3.8




When a 2- or 3-digit
number is doubled, start
at the left digit and mov

to double 364, do
600 + (204* 8 5
To hglp wit
adding/ up, éﬂ
think @ eing
| +

progressively to t
right. For exapPle, ;(

s Double

gﬁt o

4
“—

5 22 A

6 13 7

7 32 8 3

8 21 9 25

10 45D

Fonseview putposes. only

©

Ly

gow
N 60'qu ®/ ‘

%o'xﬂ G

il

Al

~
1 Double 17
g

2 Add 135 to itself

3 What is 237 times 2?

Find the product of 333an::l 2 _?\
AL Edica S

7  Add 451 to itself
8  What is twice 3447
9  Find the product of 462 and 2

10 Multiply 2 by 328




Double

. the numbers.

Double
the numbers.

| had 28 footy cards and $am had twice this total. Sam had footy cards.
«FOl-FEVIeW-PUrPoses.only
runs in total.

3 I D, 247 people lived in our town. The population has now doubled to
peoplE " " .LU

. \

4 @mice have doubled in number this week. | now have pet mi

5 @37 mm of rain has doubled this month’s total to mm.

6 | count&g s in a car park survey both today and yesterday:

in total.

7 My friend and movies
between us.

8  The Squids scored 38 points but ™ Bre. We scored points.

9  We drove 472 km today and have this distance still to travel. Our destination is km
from home.
Sara’s wage of $6.45 per hour will double when she is 21. Then Sara will earn $ per hour.

NSW: Number NS3.3; Qld: Number concepts N4.3;
Vic: Mental computation and estimation 4.2; WA: Number N4.3; SA: Number 3.8




Halve the

Set A numbers.

Because halving

is the opposite of doubling,
the method for halving is
the opposite to the

for doublingf.

To halve 234 halv
(100), ha . 30
halve 4 (£).

three gnswe ether

Halve 222

2> Divide 486 by 2

@CA‘hat is the quotient of 881 and 2?7
@&lnto two equal groups

aj number will have a remaindgr.
Half of a n

True or false?

Half of any even number must be odd. True or false?
S

N
Find half of 121
4s
Split 743 into 2 equal groups
Find the quotient of 999 and 2




Halve the

Set c numbers.

1 424
2 864
3 226
4 843
5 821
6

7

Forreview purposes.only

Of the $27 | paid for lunch, half was for a steak. The steak cost $ CD,
L J

| live 34 km from the shops. | stopped halfway for petrol. | was then 5\

/‘; km from home. ‘D‘
3 Qvatched a DVD, which lasts for 92 minutes, and stopped it halfw%&e

minutes for a drink.

?gh June is at the end of the th day.

%hour and 10 minute gamesis
8 maE@w @o&r‘.\a only had

inutes.

8 | lost half o
marbles left.

9 There are 33 levels in my new game. | am halfway through it when playing

level

10 The middle day of August is August the th.

NSW: Number NS3.3; Qld: Number concepts N4.3;
Vic: Mental computation and estimation 4.2; WA: Number N4.3; SA: Number 3.8




We all know that our
counting or numeration system
is based on the number 1Q

Q;. Use the

on page 4
h answering
these questions.

FOneview

What is the 3 worth in
the following numbers?

1 279490

8893

5
6
7
8 6538
9
0

_—

7031

pUEpOses.only

@.

How many zeros are in the number ten thousand?
How many zeros are in the number one million? '\\U
How many zeros are in the number one hundred thousand? {D’

How many zeros are in the number twenty five thousand?

L 4

Ny ‘1 | _seven thousand and twen

Qo i-@; s S

and SIXty thousaae

w many zeros are in the number eight hundred thousand?
ich two digits does the space (or comma) %
3 ® a
S,

a) go in the
e hundred?

number four huntree

How many digits in the number forty thousand?
How many digits in the number six hundred thousand?

How many times bigger is 1 000 000 than 10 0007

What is the 7 worth in
the following numbers?




~

Answers

Unit 1 Addition: Adding 1=20 to multiples of 10

Set A Set B Set C Set D SetE Set F
1 42 1 54 1 34 1 58 1 51 1 34
2 54 2 47 2 43 2 81 2 82 2 33
3 31 3 91 3 58 3 67 3 51 375
4 85 4 39 4 78 4 92 4 97 4 54
5 67 5 86 5 5 53 5 56
6 97 6 65 6 6 6 $83
7 79 7 43 78 7 57
8 49 8 78 8 83 8 68
9 66 9 96 9 61
10 98 0 10 81 10 44

wn
o

-+
(@]
W
o

-+
O

nit 2 Additien: l\dding Z-digit nunber Q
Set E

1 107 1 117 1 59
2 115 2 119 2 96
99 3 112 3 136 3
4 78 4 119 4 118 4
5 98 5 137 5 128 5
6 78 6 146 6 146 6
7 76 7 129 7 129 7
8 78 8 129 8 108 8
9 83 9 109 9 118 9
1 10 98 10 135 10 125 10
_-A‘-J-\'lig"'-i‘i

nit 3 uberastion. U':t 3 5120 Brom”me

Set A Set B Set C Set D Set E Set F
1 W26 1 14 1 26 1 28 1 36 16
2 B9 2 26 2 25 2 36 2 53

3 3 52 3 13 3 47 3 74

4 4 28 4 8 4 23 4 yes

5 5 12 5 16 5 25 5 yes

6 6 13 6 22 6 12 6 45

7 7 31 7 15 7 39 7 no

8 44 8 14 8 11 8 78

9 O 4 9 17 9 19 9 32 0

10 0 " ¢ 10 46 10 38 10 57

- Subtraetin

Set A Set F
1 54 1 52 1 1 11
2 62 2 25 2 tru€ 2 2 2 33
3 25 3 68 3 true 3 73 3 81 3 81
4 62 4 42 4 false 4 25 4 62 4 41
5 32 5 54 5 true 5 31 5 54 5 61
6 32 6 32 6 true 6 40 6 41 6 43
7 43 7 22 7 false 7 31 7 61 7 12
8 23 8 33 8 true 8 46 8 53 8 21
9 34 9 20 9 false 9 41 9 66 9 71
10 11 10 42 10 false 10 23 10 51 10 21

Mighty Mentals Book C/Macmillan Education Australia



Answers

Unit & Multiplication: The 1 tines to O tines tsbles

Set A Set B Set C Set D Set E Set F
1 24 1 8 1 4 1 32 1 48 1 40
2 21 2 24 2 45 2 12 2 33 2 18
3 18 3 44 3 4 3 20 3 14 3 20
4 55 4 9 4 66 4 40 4 60 4 35
5 10 5 16 5 59 51
6 36 6 20 6 48 6 54
7 32 7 7 7 20
8 27 8 8 12
9 10 9 9 14

10 30 0 50 out of 50

wn
o

-+
(@]

1 1 96 1 90 1 36
2 1 2 35 2 132 2 77
3 99 3 84 3 72 3 24
4 4 4 88 4 90 4 84 4 77
5 5 24 5 81 5 96 5 72
6 6 84 6 33 6 100 6 100
7 7 60 7 45 7 81 7 yes
8 8 70 8 63 8 88 8 yes
g 9 63 9 36 9 24 9 56
1 10 121 m 10 50 10 42 10 56

1

2

3

4

5

6

7 2400

8 450 4000

9 180 1200

10 280 7200 0 40000
Set A Set F
1 11 1 6 9 15 1 4
2 8 2 3 2 6 0 2 9 2 8
3 4 38 31 32 3 6 39
4 7 4 4 4 11 4 1 4 1 4 6
52 57 54 5 6 538 5 1
6 10 6 2 6 7 6 4 6 4 6 12
7 3 7 6 7 2 7 3 7 7 7 6
8 12 8 3 8 10 8 2 8 2 8 4
9 5 9 12 9 3 9 3 9 10 9 10
10 9 10 5 10 12 10 7 10 7 10 8

Mighty Mentals Book C/Macmillan Education Australia



T T Answers

Unit 9 Division: Divisors of 7 to 12

Set A Set B Set C Set D SetE Set F
1 6 1 10 1 1 4 15 17
2 9 2 7 2 10 2 4 2 3 2 6
32 39 37 32 3 10 32
4 12 4 2 4 6 4 4 4 7 4 nine
5 14 5 5 5 6 53
6 8 6 6 2 6 10
7 11 7 1 7 9
8 1 8 8 7
9 5 9 9 8
10 3 0 10 5

wn
®

-+
(@]

18 10 1 10
28 2 2
32 8 3
4 9 10 4
5 4 10 5
6 2 5 6
77 2 7
8 6 4 8
9 4 10 9
09 3 0

1 1 56 1 35,84 1 22 1 4

2 2 88 2 10,24 2 29 2 6

3 f 3 32 3 45,108 3 4 3 15

4 4 72 4 55,6132 4 50 4 12

5 5 40 5 20,48 5 22 5 10

6 6 96 6 40, 96 6 59 6 20

7 7 80 7 25,60 7 7 7 8

8 48 8 60,144 8 32 8 10

9 < j &4 9 30,72 9 85 9 56 0

10 O 7y 10 15, 36 10 19 10 9 ‘A
e/?llni Division: Fact \O(\

Set A = ueaa‘ ‘ Set F

14 11,5 0 16 1 yes

2 3 2 1,23,6,91 O 2 2 2 no

3 6 3 1,2,3,4,6,8,12,24 32 3 yes 33 3 yes

4 7 4 1,2,11, 22 4 1 4 vyes 4 5 4 yes

58 51,2,7,14 51 5 no 52 5 no

6 10 6 1,309 6 8 6 yes 6 3 6 1

7 25 7 1,2,4,8 7 4 7 yes 7 4 7 60

8 9 8 1,11 8 7 8 no 8 1 8 30

9 16 9 1,2,4,8,16 95 9 no 9 4 9 vyes

10 33 10 1,3,7, 21 10 12 10 yes 10 10 10 yes

Mighty Mentals Book C/Macmillan Education Australia ]



Answers

Unit 13 Deulling

—

Set A
150
350
550
750
950
1250
1450
1850
2250
2950

OvMoOoONOCGAOP~WN-=-
O VOO NOCULA,WN-=

—
-

Set C

1 40000 1 10

2 400000 2 100

3 40 3 10

4 4 4 100

5 4000 5 1000
6 400000 6 1000

7 4000 7 10000
8 40000 8 100

9 40 9 10000
10 400 10 100000

Set F
56
250
494
34
74
344
94
76
944
$12.90

OVvVoONOCURA,WN-=

Set A Set B Set C Set D Set E
1 48 1 54 1 248 1 724 1 34
2 82 2 96 2 464 2 902 2 270
3 66 3 38 3 662 3 564 3 474
4 86 4 70 4 886 4 946 4 666
5 44 5 58 5 5 154
6 26 6 92 6
7 64 7 30
8 42 8 74
9 28 9 &
10 68

Unit 14 HaMng
Set A Set C Set D Set E
1 24 5 1 212 1 416 1 111
2 13 27.5 2 432 2 447 2 243
34 41.5 3 113 3 438 3 440.5
4 4 36 4 4215 4 347 4 194
5 5 245 5 410.5 5 317 5 true
6 6 495 6 2235 6 328 6 false
7 7 19 7 3125 7 227 7 false
8 8 36.5 8 140.5 8 235 8 60.5
9 9 295 9 3445 9 146 9 3715
1 10 11.5 m 10 2425 10 10 4995

n

10 ounding off to

dued

3500

5500 2 200
7500 3 45000 3 200
9500 4 65000 4 600
13 500 5 85000 5 1300
17 500 6 95000 6 2300
20500 7 115000 7 4800
28 500 8 135000 8 6100
33500 9 175000 9 8300
46 500 10 195000 10 9500

1
2
3
4
5
6
7
8
9
10

1000
3000
3000
6000
7000
8000
9000
10 000
11 000
13 000

Set F

50 000
90 000
40 000
40 000
90 000
30000
10 000
10 000
20000
10 000

OvVvVoONOCUURARWN-=

Y
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Answers

Unit 17 Frections: Fraction of &n amount

Set A Set B Set C Set D SetE Set F
1 3 1 18 1 2 1 3 19 1 40
2 6 2 45 2 4 2 6 2 7 2 3
3 14 3 63 3 8 3 12 3 yes 3 two
4 32 4 81 4 12 4 18 4 6 4 60
5 50 5 5 5 5 4 million
6 78 6 6 6 1/4
7 80 7 7 12
8 130 8 8 6
9 270 9 9 %5
10 578 0 10 90

13 Fractions: quivalence &nd simplest

Set A Set C Set D Set E
1 = 1 = 12 1+
2 4 L 2 3 2 4 2 &
3 4 1 3 £ 35 3%
4 4 4 5 4 £ 43 4 ¢
5 5 3% 5 & 5 12 51
6 6 % 6 = 6 8 6 %
7 7 3 7 % 7 10 7 %
' % 8 1 85 8 7
o 9 9 9 9 3
1 0 06 10 & 1

"l

aVaVYaVl¥
LU

VeRIng|S and crr & tionl eqUIvdaienees

g'n-n"-Ilv_

Set A Set B Set C Set D Set E Set F
195 1 05 1+ 1 4% 13
2 % 2 0.1 2 i 2 & 25
3 1 3 0.25 33 37 39
4 £ 4 0.2 4 & 4 % 4 20
5 % 5 0.6 5 & 5 700 5 23
6 + 6 0.75 6 3% 6 700 6 76
7 % 7 08 7 25 7 5 7 83
8 % 0.4 8 2 8 & 8 97
9 1 < 3 Q7 9 & 9 7 9 123
10 5 0 Py o 10 3 10 % 10 2456

ecjazls: Addition and{\t i
Set A d uaa Set F
106 10 ) 1% 1 076 1 236
2 08 2 04 ) 2 0.18 2 09 2 $2.35
3 07 3 08 3 0.71 3 0.15 3 044 3 44
4 09 4 0.1 4 078 4 048 4 08 4 1.11
5 08 5 0.2 5 0.94 5 0.28 5 0.48 5 0.12
6 0.35 6 0.55 6 0.95 6 036 6 0.2 6 767
7 0.78 7 0.23 7 0.41 7 042 7 0.57 7 22
8 0.98 8 0.53 8 0.94 8 0.24 8 0.66 8 $7.70
9 0.86 9 0.21 9 0.94 9 0.13 9 0.23 9 687
10 0.99 10 0.32 10 0.63 10 0.22 10 0.39 10 22

Mighty Mentals Book C/Macmillan Education Australia



Answers

Unit 21 Sequences
Set A Set B Set C Set D Set E Set F
1 +10 1 -4 1 36 115 112 11
2 x10 2 halving or dividing by 2 2 48 2 G 21 2 1
3 +50 3 -8 3 16 3 C 32 32
4 x2 or doubling 4 halving or dividing by 2 4 56 4 49 4 1.6 4 1
5 +19 5 5 5 &
6 x5 6 0 6 1
7 +1then2, 3,4, etc 7 7 7 1%
8 +99 8 1%
9 x3 9 +
10 +2then4, 6,8, ¢ 10 2

Unit 22 Number strings

Set C Set D Set E

116 16 119 A
8 2 30 23 2 38
13 3 70 3 42 3 38
4 1 49 48 4 37
5 10 5 121 5 4 5 87
6 13 60 6 10 6 69
7 4 7 80 7 4 7 14
8 18 8 64 8 12 8 84
9 4 9 132 9 7 9 42
1 10 14 = 10 8 10 10 10 68

wn

ONVoONOCUTARWN-=

—

Set A et Set F
1 6 square millimetres 1 3m , cm, 1 10 square metres 1 false
2 70 square centimetres 2 5m 2 L=5m,W 2 2 6 square centimetres 2 true
3 56 square metres 36mm 3 L=7mm W=2mm 3 square centimetres 3 120 square centimetres 3 true
4 108 square centimetres 4 11m 4 L=5m W=3m 4 square millimetres 4 800 square metres 4 true
5 350 square metres 5 30m 5 L=7cmW=3cm 5 square centimetres 5 90 square millimetres 5 false
6 880 square millimetres 6 12mm 6 L=11Tmm W=2mm 6 square centimetres 6 2 square metres 6 false
7 7200 square centimetres 7 10cm 7 L=13m,W=2m 7 square centimetres 7 400 square metres 7 true
8 4000 square metres 8 15m 8 L=9cm W=3cm 8 square metres 8 400 square centimetres 8 false
9 600 square centimetres 9 1.5m 9 L=11m W=3m 9 square millimetres 9 70 square millimetres 9 false

10 1000 square metres 10 25m 10 L=7mm,W=5mm 10 square centimetres 10 1 square metre 10 false

Mighty Mentals Book C/Macmillan Education Australia



el . Answers

Unit 29 Mass: Units and eonversions

Set A Set B Set C Set D Set E Set F
1 500 g 1 0.1kg 1 05kg 1 3.4kg 19999 15
2 900 g 2 0.4kg 2 0.95 kg 2 2kg 2 1kg 2 500
3 1000 g 3 0.8kg 3 1kg 3 3kg 3 1.1kg 3 500
4 1100 g 4 1.2kg 4 1kg 4 55kg 4 05kg 4 2000
5 1500 g 5 5 5 0.8kg 52
6 1900 g 6 6 6300 kg 6 100
7 2200 g 7 7 10
8 3500 g 8 8 1.6
9 4500 g 9 9 250
10 5700 g 0 10 2000

20 Cavacity/volum: Units and eonver
Set C Set D Set E

1 8 cubes 1 1L 1 2cm
2 16 cubes 2 110 mL 2 7cm
3 16 cubes 3 1L 3 2cm
4 20 cubes 4 11L 4 7m 4
5 24 cubes 5 05L 5 6m 5
6 20 cubes 6 2L 6 1cm 6 fg
7 60 cubes 7 3000 mL 7 5mm 7 n
2200 mL 18L 8 100 cubes 8 1L 8 20cm 8 64 cubes
2500 mL 2L 9 120 cubes 9 31L 9 100m 9 5
18 2900 & 10 2.6 L ml0 80 cubes 10 10000 mL 10 5mm 10 18
||
v

v

1 1 15 minutes 1 10 minutes 1 10 hours
2 R 2 10 minutes 2 40 minutes 2 8 hours
3 2 3 30 minutes 3 70 minutes 3 7 hours
4 4 60 minutes 4 120 minutes 4 6 hours
5 5 61 minutes 5 59 minutes 5 12 hours
6 6 62 minutes 6 61 minutes 6 11 hours
7 7 4 minutes 7 80 minutes 7 13 hours
8 8 40 minutes 8 105 minutes 8 6 hours
9 9 66 minutes 9 70 minutes 9
10 10 120 minutes 10 20 minutes 10 2

I EGcHS

Set A Set B e
1 4 1 35 1 &1 days 1 9 June
2 - 2 5 2 2 61 days 2 52 Tuesdays
3 3 3 3 3 Wednesday 3 March 3 61 days 3 July and August
4 4 4 Tuesday 4 March 4 61 days 4 December and January
5 % 5 & 5 Tuesday 5 May 5 62 days 5 5 Fridays
6 % 6 B 6 Saturday 6 January 6 92 days 6 12 movies
7 3 7 % 7 Tuesday 7 March 7 91 days 7 20 days
8 & 8 & 8 Wednesday 8 December 8 92 days 8 21 days
9 1 9 3 9 Saturday 9 August 9 90 days 9 7 days
10 10 + 10 Sunday 10 January 10 91 days 10 2 fortnights

Mighty Mentals Book C/Macmillan Education Australia vﬁ



Answers

Unit 29 Money: Mzking znounts, addition and subtraction

Set A Set B Set C Set D Set E Set F

1 3 coins 1 2 notes 114 1 %$1.10 1 $95.00 1 $3.85

2 2 coins 2 3 notes 2 6 2 $22.00 2 $94.15 2 $185.00
3 3 coins 3 4 notes 3 4 3 $25.00 3 $92.00 3 $100 note
4 3 coins 4 2 notes 4 8 4 $45.80 4 $91.25 4 $20 note
5 3 coins 5 4 notes 56 5 $90.25 5 $100 note
6 3 coins 6 4 notes 6 4 coins

7 5 coins 7 5 notes 7 3 notes and 2 coins
8 4 coins 8 8 10 coins
9 7 coins 9 9 64 coins
10 8 coins 10

30 2D end 3D: Propertics and directi Q

Set C Set D Set E

6 polygons 1 south 1 north and west 1 & tumn left A 3 rect@ygles
3 polygons 2 east 2 south and west 2 % turn either right oMeft e
3 4polygons 3 north 3 north-eastand south-east 3+ turn either right or Ie’Northern erritory
4 6polygons 4 west 4 south-east and south-west 4 % turn left iangles
5 5polygons 5 south-east 5 north and east 5 % turn either right or left es
6 5polygons 6 north-west 6 north-east and north-west 6 % turn right st
7 6polygons 7 south-west 7 south and east 7+ turn right t
8 7polygons 8 north-east 8 north-west and south-west 8 =+ turn right east
pentagon and triangle 9 7polygons 9 east 9 south-west and north-west 9 turn left 9 rectangular pri
triangle 0 8polygons KO west 10 south and west 10 & turn either right or left 10 gsphere

I ™Y - ¥ 1N 'Jg\:l Fal\Y VEN .Y R '] '.'A'-'g'--n‘hllv_

'y MU ju

f mee ofeeptl o C{ThooV

S Set B Set C Set D Set E Set F
1 1 unlikely 1 an odd card 1 5%
2 2 50/50 2 an odd card 2 &
3 3 likely 3 50/50 3 5
4 4 unlikely 4 50/50 4 5
5 5 likely 5 50/50 5 &
6 6 unlikely 6 50/50 6 +
7 Q7 impossible 7 50/50 7 %
8 O cards BNcertain 8 a card bigger than 15 8 +
9 5 cards 0 Y 9 50/50 9 1
10 5 cards 10 a blue 22 card 10 %

e,,it Cevision: All s ’SQ(\
ducat
1 63 1 1500 1 -8 1 1 14m
2 58 2 6 25 2 2 factors 2 false
3 46 3 52 3 70cm 3 106 3 48 3 4kg
4 42 4 415 4 7500 g 4 32 4 15 4 1000 cubic centimetres
5 54 5 6 million 5 8000 mL 5 21 5 99999 5 60 days
6 108 6 23500 6 24 minutes to 5 6 72 6 78000 6 9 hours
79 79 7 winter 7 12000 7 0.25 7 $1.45
8 1 8 & 8 1600 square millimetres 8 11 8 0.6 8 triangles
9 20 9 0.13 9 13 five cents 9 12 9 64 9 rectangles
10 70 10 0.72 10 rectangular prism 10 60 10 50 10 50/50

vifi Mighty Mentals Book C/Macmillan Education Australia



How many times
bigger is the first 5
than the second 5 in

1 243659
462 880

the foHowing numbers?
What is the 4 .
worth in the 263749 1 e
following 213 664 2
oy 515

804 779

0 YN O~ 1 B~ W DN

3

o~

. W

eview_ purposes.only

many zeros are in the number ninety thousand?

y dligits are in the number one hundred and five thousand?
6 At$103 @ Wrpany tickets need to be sold to take $10 000

( % ee be sold to take
8  Abandearns $10 for & D QW% :

9 How many metres does an athlete cover in the 10 km walk?

10 How many decades equal 100 000 years? o

: 0
S %’:.ﬂ “}’fl l\/}‘(; H"{' ?(—ﬂ.z

NSW: Number NS3.1; Qld: Number concepts N4.1;
Vic: Numbers, counting and numeration 4.1; WA: Number N4.1a; SA: Number 3.6




Find the number
that is halfway

When numbers are
rounded off, they are
taken to the nearest (0,

between:

halfway, it is tg 700 and 800 _
900 and 1000 _
1200 and 1300 _
1400 and 1500 _
1800 and 1900 _
2200 and 2300 __
-2900 and 3000




Find the number that
66‘[’, c is halfway between:

1 145
1 10000 and 20 000
151

2
20 000 and 30 000 Round these
numbers to the 3 249
40 000 and 50 000 nearest 100. 4

60 000 and 70 000
80 000 and 90 0Qg

0 000

200 000

900

D[ TEVIEW plirpos

1 The SCG crowd: 52 898

@The Telstra Stadium crowd: 87 611

e Gabba crowd: 44 972

MI Stadium crowd: 37 235

CGcrowd: 93667

Qval crowd: 25773

/ Stadium crowd: 11732
The Marrara Owg vy

The Manuka Oval crowd”

The York Park Oval crowd: 14 401

NSW: Number NS3.1; Qld: Number concepts N4.1;
Vic: Numbers, counting and numeration 4.1; WA: Number N4.1a; SA: Number 3.6




of thosgfparts

thre@equ
nd t

those parts.

For

&

Remember that when
we deal with fractions,

'tt'l it into

parts
two of

&7

d

1300

2700

keviévi'pukpe

What is one-third of 277

Find one-sixth of 42

s two-fifths of 10 equal to 47

wo-sevenths of 217

hs

Find six-twelfths of 24

Find four-eighths of 66

Is three-sixths of 100 the same as one-half of 1007?

What is four-fifths of 5007




one A,
, . : ///“) YA
Find two-thirds of: k ! g

4

e c D
1: fv///yl/ | 4%
18 /s C\
L

24
3

FoF fevien hunyoses oty

|\@enths of the world’s surface is water; -sevenths is land.

L]

nths of an iceberg is under water. If 10 metres shows, metres are \\

people

&S,

‘ ef;er
5 a'fth of Australia’s 20 million people live in Melbourne. About \S
are Mgl @

6 | ate 250 Oga ekilo of grapes we bought. | ate what fraction
7 We won three-8 a(/@e 16 games we played this sqas @w games.
8 It rained for one-fifth Sk s iE ﬂelat\é ol
9 | spent one-ninth of my $45 on a OO® > be oSty _
Samantha led for nine-tenths of the 100 m race. She led the race for ____ metres.

NSW: Number NS3.4; Qld: Number concepts N4.1;
Vic: Mental computation and estimation 4.1; WA: Number N4.1b, 3.1b; SA: Number 3.7




iv 18 Fragtions:
Unit fan e Plest

Form equal

Remember that equal fractions. Se+ R —
or equivalent fractions are " frac?oizual
fractions that are the same

size but are expressgé
using different n
for example -

W their

affar e.smallest
for gample LZ
5
n 1o

3
18
S
25
8

2

2

Alﬂ -
(3, ]




Se.t c Form equal

fractions.
“ 1O
8- 4
1 - @ ‘ \
15 _
2 . i followin
8 Simplify the Tollo . g D
’ 6 = 4 fractions by changing
2 them into whole numbers. D
4 3
10
5 % D
6 D
7 ]

'For review-purposes-only

2 | played 20 quarters of football tAis year, or games of football.
of my 6 cards were black; of the cards were black.
laced 12 of my 14 serves correctly. of my serves were good.

my 10 notes were $10 bills. were $10 bills.

of the candles stayed alight.

NSW: Number NS3.4; Qld: Number concepts N4.1;

Vic: Mental computation and estimation 4.1; WA: Number N4.1b; SA: Number 3.7




Unit 19

s and ‘t’ﬁ"i(‘

Change these

decimals to fractions
Remember that in simplest form.

the first decimal place
following the decimal po’
deals with tenths angt
the second dec :
deals with
So 3.17

0.8

0.4

0.9

0.5
0.1

0.6

VO 00 N o0 g b

7 82383
8 97.08
9 123.09

10 245852




decimals into
fractions in
simplest form.

Change these

What is the 7 worth in
the following decimals?

-
© ©o
=
- O

2

3 0.0 1 579
76

4 0.07 2 127
a1

5  0.02 3 741

6 4

Py
7

or.review.purposes only

is the value of the 5?
@he value of the 97

ightiump record is 2.45 metres. What is the value of the 27

Now write the height as a whole number and a fraction in simplest form.

NSW: Number NS3.4; Qld: Number concepts N4.1;
Vic: Numbers, counting and numeration 4.3; WA: Number N4.1a, 4.1b; SA: Number 3.7




P& Unit 20
Decina‘& A

ddi‘ti"h and 5%‘“‘86‘5?0“

Adding and subtracting
with decimals is nho
harder than with whole
numbers. Just ensyst

0.12 + 0.23 =

0.33 + 0.45 =

0.22 + 0.76 =

0.13 + 0.73 =

0.45 + 0.54 =

1 Find the sum of 0.2 and 0.56

%2 Add 0.5 to 0.4

3 /VWﬁat is 0.1 and 0.34 altogether? ______
7
G
Find the diftefe
Reduce 0.79 by 0.22 ____
Take 0.3 away from 0.96
Subtract 0.7 from 0.93

Remove 0.11 from 0.5




Sct €

1 07+023=

2 0.41+03-=

3 06+0.11=

4 0.48+0.3-=

5 08+0.14= |
6

7

8

9

10

For-review purposes-onty

| had $4.55 but lost $2.20. | then on __— left to spend.

@,

A stui

ry,race is 4.5 km and | have run 2.3 km.

writtenas $

km.

NSW: Number NS3.4; Qld: Number concepts 4.1;
Vic: Mental computation and estimation 4.2; WA: Number N4.1a; SA: Number 3.7




A sequence
is a pattern including
numbers, letters or

3,13,23,33,...
,80,8008. ..
sequence is called

pattern is
The seque
has o agi

1. 4
e3,.. S
® m 6
Q.
8

9

Forievie

What is the rule for each of the
following sequences?

, 62,112,162, .
3,6,12, 24, ...

15, 34,53,72, ...
1,5,25,125, ...
1,.2,4,7,11,...

6, 105, 204, 303, ...
2,6,18,54, ...
1,3,7,13, 21, . ..

W pLEPESEs.on

120,

10 64,1

65,57,49,41, ...
64,32,16,8, ...

8 43,42,40,37,33,...
9 1200, 120,12,1.2, ...

27, 23,19, 15, ...

60, 30, 15, ...

jhicattS

6,4,1,...




Find the missin Find the 7th term for each
e g term.
6 t c Set D of the following sequences.

1 18,27, , 45 1 3,5709,...

36, , 60,72 A B,C,..

2
4, 8, , 32 3 WXYZ..._
4

7 1:00, 1:30, f
8 Dec, Oct, Aug, Jun&
9 ones, tens, hundreds,

*
thousands, . . . ,
Q

10  spring, summer, autumn, .

Wepurp

FoRvie

Find the missing term.

Find the missing term.
< -

@.6,0.8,1, /6 /)} o "
) 3r 3 ’ \\D

5/ 5 ]

11
3 w3zl k
4

3
4
5
6
7

8 3.8,3.1,24, 8 12 6 3

9 100,10, 1, 9 21 %
09,07,

10 2.1,1.6,1.2, 10 8,6%, 5,3%’

NSW: Patterns and algebra PAS3.1a; Qld: Patterns and algebra PA4.1;
Vic: Number patterns and relationships 4.1; WA: Number N4.4; SA: Pattern and algebraic reasoning 3.9



Number strings
are questions made up
of many smaller pieces

Work left to righ
solve these challé

problems. goweve
DQ 9x9+12=

8x2-5=

6x9+3=

3x11-5=
12x12+ 6 =

8x8+10-5=

8x3-3-7=

Mx7+4+3=

9x4-6+12=

8x8+12-8=




Set € : 7
2x(5+3)= , 15-:—(3+2)=D
|

5x (12 -6) =

7x@+2)= | _
3x(7-47 |
11 x40+ 9) = ""

X424 |
oy
Q?
6(7+4)=
Oxm-n:

Forggyiew purposes only
@ w0e6oss2- .U

25+5+6+3=

O ORI o 1 A W N =

+9-6+11=

~
\{D’
10 +4-8= 0@
?\

: 124+ 8 =

NG/ QO
88 + 11 x 2 . o = uCa‘\O

. |
32 + 4 x10 + 12 - 2 =" v

O 00 N O G

14 +2x3+7+2-=

72 -+ 6x5+12-5=

NSW: Number NS3.2, 3.3; Qld: Number concepts N4.2, 4.3;
Vic: Mental computation and estimation 4.1, 4.2; WA: Number 4.3; SA: Number 3.8




CUnit 23 Length and Perineter:

nissi"® sides

Remember that,

in measurement,
1O mm = { cm

00 cm =(m

000 m = [k
Thereforg,

{ mm = O.fcm

{ ecm = QLOI

{ m =40.00f

Fomrelié\i pukpases: enly-

()
» sy
et €

What waulgiae
perimetefyofee 2 25cm?
square be Wit

side lengths §: 3.1 m?

1 1.2 mm?

5

6 5:5c du &

7 6.1 m?

8 7.5 mm?
9 10.1 m?
n S

HC




r r@iew:-purposes only

1 L=3mm, W=1.1mm?
L=5cm, W=22cm?
L=10m,W=45m?
L=6mm, W=14mm?
L=7mm,W=35mm?

L=4cm, W=15cm?

L=20m, W=45m"?

10 L=50mm, W=0.5mm?

i

NSW: Measurement MS3.2; Qld: Measurement M4.1;
Vic: Measuring and estimating 4.3; WA: Measurement M4.1; SA: Measurement 3.5



Area: CO

Area deals with the space inside a boundary or perimeter. Remember that the area

of a rectangle is worked out by multiplying together the length and the width. This divides the

—_—

L=1
L

1

L=1

© OV 0O N o0 U b~ W N

—

t e T g Fire
follow!
Pllowing gle -

L=3 mmn

O
MW=9cm, A=

_Fov-Eéview pases oty

L=200cm, W=3cm, A=

shape into squares gs"SqUare centifewmag or square metres.

he widths of the

would rectangles.

1 L=

L=8m
Fcm,

. fésq 9. W =
’A @m’ _—
L=7mm, A

L=90m, A= 990’%
L—60m,A—1800@ =
L=30mm,A=360w

W_

m, =5m, A=

o a A~ W DN

10 mMm, W=8mm, A=

]

-_—

- L=2m,A=3sgqm, W=
m,W=10m,A= 9 |_=6m,A=9sqm,W.\
sef E Circle the most sensible 10 L=10m,A=25sqm "‘
\"

measure for the area of:

")
oot
Cor\ce?*

(

N

den bed. 10 square: millimetres, centimetres or metres?
uare millimetres, centimetres or metres? v
square: millimetres, centimetres or ?

e~

a tabletop. 2 square: millimetres, centimetres or metres?

a soccer P

a small sticker. 90°%&

a basketball court. 400 square: millimetres, centimetres or metres?
a tissue. 400 square: millimetres, centimetres or metres?

a calculator button. 70 square: millimetres, centimetres or metres?

©O OV 0 N O U1 h W N

a fly screen.1 square: millimetre, centimetre or metre?




What must the length and the width of

Would you use square centimetres,

the following rectangles be, glve‘n these ﬁ square millimetres or square metres
areas? (Note: The lengths and widths to measure the area of:

are whole numbers bigger than 1.)
1  akitchen?
1 bsqemil=__ W= A ‘\'\'\l(_k 2 agarden bed?
2 10sqmil=___ W=___ ;00| ot the front cover of a CD?
3 14sqmm:L=___ ,
4 15sqm:L=
5 21sqcm:lL
6 22sq
: \
8 7 acomputer scrﬁ )
9 g;
10 a roof?
a baby’s little fingern’

Nasmania is Australia’s smallest state in area.

"6 area of a square is calculated by length x width.

' @3 of a rectangle is calculated by length x width. :
S 0 se should be calculated in square centimetv

The perithgte @nﬂ c be!28 square My

House painters d&alyyith

Lines around a hockey field are examples of area.
Roof tiles are sold by the square centimetre.

10 centimetres x 10 centimetres = 1 square metre.

NSW: Measurement MS3.3; Qld: Measurement M4.1;
Vic: Measuring and estimating 4.1; WA: Measurement M4.1; SA: Measurement 3.5




Convert the following
masses into grams.

Remember that Change these masses
1000 grams equals
| kilogram and that

1000 kilograms equgjé

into kilograms.

10 57kg_———

FOnieview purpo

Circle the
greater mass.

2 1kgor100g

1 999 gor0.1kg %
Z XS

7 7900kgor1t
8 2tor300kg
9 0.1kgor0.1t

10 9000kgor1t




m Combine the
Se‘t c 1 500 mL following masses,

950 mL \ §7 T 1.2kgand 2.2 g
(o]

How much
would the 1000mL_ | 2 1.5kgand 0.5 kg
following 3

1.8 kg and 1.2 kg

quantities of

1L W

water weigh?

8.3 kg and 1.2 k
10 9kgand 1.1 kg

Forreview purposes only

3 er spread half a tonne of fertiliser weighing __ kg.
4 @ holds 2000 L of water weighing __ kg. -
5 ‘ sayater weighs . o
6 =
7
8
9

10

NSW: Measurement MS3.4; Qld: Measurement M4.1;
Vic: Measuring and estimating 4.1; WA: Measurement M4.1; SA: Measurement 3.5




Convert the
following capacities

Convert the foHowing
into millilitres. Capacities into litres

Remember that
1000 millilitres (mL)

equals { litre (L). 200 mL

400 mL

space inside a
and for ¢
rectangulé i
calculate ﬁ 151
the numfer of in the
its in the oL

e ullits in the 2.2 L
e object.

following volumeShg

/ - m,D=6m,H=2m,V=84o?£§
.
rectangular prisms. é 105& m, H < @O glibes
LiSOIGA

, V=100 cubes

7 L=5mm,D-= mm, H =3 mm, V =75 cubes

cm,D=10cm, H=1cm, V = 200 cubes
L m D=2m,H=2m,V =400 cubes

L=8mm,D = mm, H =3 mm, V = 120 cubes




Find the volume in cubes of the
following rectangular prisms given the

lengths (L), depths (D) and heights (H). Circle the greater

1 L=4ecm,D=2cm,H=1em V=—— volume of water.

2 L=8cm,D=2cm, H=1cm,V = T 10OmLor1L
3 L=4cmD=2cmH=2cm,V= 2 01Lor110mL
4 3  1Lor900 mL
5 4

6

7

8

9

10

a&Pr review purposes only

@many individual cubes would be in a larger 10 x 10 x 10 cube?
1

would the volume of a cube with side lengths of 3 units be?

5 At20 L 8

uld half a litre of water weigh? _____ 0@

%/ w much water goes onto a lawn in 20 minu%

6  The volume ofNg reéhpri quals length + vy @c Jfle orfalse?
Educaic>

8 Find the volume of a 4 x 4 x 4 unit cube.

7 Could the volume of J%ag

When you carry a 10 L bucket that is half full of water, you carry kg of water.

My bedroom is 3 m long, 3 m wide and 2 m high. The room’s volume is cubic metres.

NSW: Measurement MS3.3; Qld: Measurement M4.1;
Vic: Measuring and estimating 4.1; WA: Measurement M4.1; SA: Measurement 3.5




Both digital and analogue
(or sweep-hand) clocks are
used in our everyday lives g

10:23

1:54

times befop

6:47
' eans
post mepfdi Qea S With 2:58
tifhes_aftSrAOON, 12:14

4:34

8:49

9:21

Fer.review purposes only

How many minutes from: m’
L
@ How many hours from: \\
1 1Tam.to11am.? i(D'

2 2am.to 10 a.m.? A

7355 to 8:057

—_—

to 1:00?

5am.to12n

9:40 to 11:007 m. to 7 a.m.?
O P. . . .

8:20 to 10:05?

4 am.to5pm.”?
5:55 to 7:052

8 7am.tolpm.?
4:44 to 5:042

9 2pm.tolam?

10 5am.to4 am.?



Se't R Change these How many minutes from:

1
2
3
4
5
6
7
8
9

10

into digital times.

1 10 minutes to 5 to 5 minutes past 5?
12 minutes past 8

2 8 minutes to 11 to 2 minutes past 11?

10 minutes to 4

3 aquarter to 6 to a quarter past 6?

22 minutes past 3
12 minutes to 6

arter past
aqu P 6 i gast 107?

7

8 20 minutes to 11 to

utes past 11?

9 3 minutes to 12 to 3 mintites

10 6 minutes to 3 to 6 minute

UL review.purposes on

It finished at .

| lasts for 7 hours, starting at 8:40 a.m. and ending at

s 12499 a.m. noon or midnight?

for 3 hours, starting at 11:30 p.m. and landing at

rted at 12 minutes to 5 or, digitally, at .
The 90-MW %began at 9:34 and finished at ?\
Suva is 2 houMfya Jg ney, where it is currently 1%:5 Q\w
currently : E at\

p.m. and in Sydney it

New York is 12 hours behind
is

| must tape a TV show at 1:35 p.m. or, digitally, at 25 to 2 in the

Breakfast lasted from 8:55 until 12 past 9, a duration of minutes.

NSW: Measurement MS3.5; Qld: Measurement M4.2; WA:
Vic: Measurement—Time 4.3; WA: Measurement M4.1; SA: Measurement 3.5




What fraction of OO
an hour are the (€ ¢ (c) o_)
S following times? e — e
Time can be split into *

units as small as a
second and as large as

ng durationg?

®h

one unit to aother | 10 minutes

20 minutes

40 minutes

50 minutes

5 minutes

55 minutes

se es-Ohly

3 terms

10 1 Semester

March + April?
May + June?
ugust + September?

+ November?

How many
days in:

winter?
spring?
autumn?
summer (non-leap year)?

summer (leap year)?



- €

What day of the week will it be: (Se‘t D
1 7 days after Wednesday? 1 2 before Jan\;\/:j;?month comeszj
2 7 days before Friday? 2 4 afier Miay? B —
3 13 days after Thursday? 6 ofier SepteF
4 13 days before Monda _
5 16 days after S e
6 28 days begffre Sat
7 7 fortni@hts a ay?
8 72 dgays afteQday?
9 7§ days & e Friday?
10 7 ydafter Saturday?

U&t:v.'V v

hat is 10 days after 30 May?

1 W
@Nhat is the smallest possible number of Tuesdays in any year?

hich two consecutive months in the same year have the same
ber of days?

wo consecutive months, not in the same year, have the sargé

4

Saf daxs?

What Wt t number of Fridays in any month?
.
How many Z%g oV, s walem,i &\
7  How many days from T ™&kQ05 10 17//2004

8 How many days from 11/7/2008 to 1/8/20087
9 How many days from Christmas Day to New Year's Day?

How many fortnights in a standard February?

SW: Measurement MS3.5; Qld: Measurement M4.1;
Vic: Measurement—Time 4.3; WA: Measurement M4.1; SA: Measurement 3.5.



How many coins would be

Making amounts of
money economically means
using the smallest humber Q

a

notes and coins posss o htts
emember to alwgfs start \

R ( 2 60 cents

required to make, as quickly

80 cents

3
ingrwi 4 $1.25
. m or 5 $1.70
i#f decim ook for
eMgealing with 6 $2.30
: i $9.95. 7
$6.50

For review [iiirpos

$4.90

1 $5.007?

@ 2 $5.85?
N ss00

| g

L

; 7  $28.00?
8 $28.90?
9  $47.00?

10 $47.65?




Find the totals of the following

How mar;ly amounts of money.
notes an
;Zi:Z:?rt:j 2 $9.90 T 50 cents + 20 cents + 40 cents

ui
to make the 3 $12.30 2 $4.00 + $6.00 + $12.00
following
amounts of 4 $18.85 0 +$13.50
money as 4 .
economically S ﬁzz'oo + $23.38
as possible? 6 " 43. 5

‘ $28.70 + $9.
$84.85 + $9.95 \Q

6
7

8 $9.95 + $9.95
?  $75.00 + $99.00

10 $231.55 + $99.00

| of one of each of the six available coins in our money system would equa

©)

< VU
| of one of each of the five available notes in our money system would %

3 has the greatest surface area? @
4 i n@vas the third-greatest surface area?

5 Which n8 eO%;m'inantly green?

6 How many c3igs //fired to make $4.55 as economic‘ally a

7 My new shoes cost'$ @ coins

8  $19.00 can be made using

9 How many coins would be needed to make $3.20 as uneconomically as possible?

Can $200.00 be made with one example of every note and coin in our money system?

NSW: Number NS3.4; Qld: Number concepts 4.1;
Vic: Mental computation and estimation 4.2; WA: Number N4.1a; SA: Number 3.8




Which polygon, or polygons, are used
to make the following polyhedra?

Two-dimensional shapes, -

called polygons, are flat sqmare pyramie

and can be drawn easily o : t .
; ré@tang orism

a piece of paper. Thrgé

dimensional shape

polyhedra, haves

Jur mnnts of

cylinder

hexagonal pyrami

,‘

triangular prism

North, so hexagonal prism

are the

5
6
7
8 pentagonal prism
9
0

the comg@ itipdirections pentagonal pyramid A\
betweg ts 1 tetrahedron

referged to by their [t
Jjoined names, such cube _ square pyramid

5 mwgurposgs ﬂn'lymid

How many tetrah pentagonal p

polygons are .
needed to make 4 rectangular prism __ 9  hexagonal pyr
the following 5 triangular prism ____ 10  hexagonal pri

polyhedra?

(\
.
1 IIOI”I to WeSt? k

X’
63\ ( 2  south to north? 0@
?s

east to west?

/@’?Eduea

north to east!

How much of a

turn, and in which

direction, is the
fastest way from:

5
6
Q ré Y,
‘f 7  south to west?
d 8 east to south?
9
0

d east to north?
0 C; 1
X

north-west to south-east?




Oo

Which direction Which'directions
is opposite to: are adjacent to:

north-west?

1 north? - 1

2 west? 2  south-west?

3  south? 3 east?

4  east? 4 so

S north-west? S

6 south-eas 6 r -

7 north-edft? 7  south-ea
8  soutifwest? ® 8 west? c
9 ag arte@right of north? 9 a half turn from ed8t?

10 affuagter -

rn left of north?
B— 10  a half turn from

north-east?

~cream is a hemisphere on top of a

&h of South Australia is :
A @ mid contains triangles.

A tetrahN

Perth is

A half turn from south-2e

A full turn from east is

When closed, this book is the shape of a

A billiard ball is an example of a

NSW: Space and geometry SGS3.1, 3.2a; Qld: Space S4.1, 4.2; Vic: Shape and space 4.2,
Location 4.1; WA: Space S4.2, 4.1; SA: Spatial sense and geometric reasoning 3.12, 3.14




The likelihood of something
happening is the chance of it

(), likely (L),

ertain
Is the chance © ble ()

0/50, unlikely (U) or impossi
,wing a card that is:

bigger than 127?

smaller than 257

between 13 and

sets@(estions, 28 inclusive?
imagine ave 30 cards

7 blue and even?
to 9f. Cards | to

10 ardlred, s | to 20 are
and cards 21 to 30 are than 207 ____

8  white and bigger

m 9 redandeven?

dl Shufifke the cards and __
- FOT-FEVIeW.plirpos
© 8o E [SR——

1 e?of drawing a red card is the same as fora blue card. _______
2 . Xe of drawing an even card is the same as for a white card. _______
3 Thed @drawing an odd card is the same as for a blue or red card. &
4 c @ red card is the same as for a red even card. %
5 Wi /@ card,as a decimal, is 0.5, * Q
6  The chance of drawing'® ﬁnd@ﬂr@&“@
7 The chance of drawinga 1, 3,4, 7 or 7w g8 zero.
8 The chance of drawing a 1, 2, 3, 4 or 30 is the same as for drawinga 1,2,3,40r29.
9 The chance of drawing an 8, 9 or 10 card, as a decimal, is 0.1.
10  The chance of drawing a 15 card is only half the chance of drawing a 30 card.




Se't c Which has the better chance of being drawn? @
(Answer 50/50 if the chance is equal.)

What is the chance of
drawing (answer as a

ﬁ A card less than 15 or an odd numbered card

fraction in simplest form):

1 a card numbered 307?
2 An odd card or a red card
2 acard numbered 1, 2 or 37
3 Aneven card or an odde
4 Aboraz? en number?
5 A card bigg
6
7
8 N A B&rd bi®lger than 15 or a blue card
98 Ano ed card or an even white card

Ared 11 or a blue 22

~~\Ill:_ly‘!.. J

2

3

4 _
.

> f//

6 g e@a’)’ng on

7 How many of the white SmelyQlué

8 What is the chance of drawing one of these cards, as a fraction in simplest form?

How many cards, greater than 15, are white?

What is the chance of drawing such a card, as a fraction in simplest form?

NSW: Number NS3.5; Qld: Chance and data CD4.1;
Vic: Chance 4.3; WA: Chance and data C&D4.1; SA: Chance 3.3




Here are some
revision questions

that will cover all of 32 +21 & t

1 50 +

the things you have 30 x 50
worked through eg are ;
Ak tor
since Unit 3 o I so
Good 9x6= u &
00 4
6 12x9= Half of 8 > A
7 45+5= > Gandsix zeroges® *
6
O i Ty
7 Fi
9 240 +12 = nd 3of27__ | e
8 12.
10  10th multiple ag in simplest form

||

bsess only

Find the lowest common multiple of 4 and 6.

How many factors does 13 have?

)
Y

Double 12 and double it again.

£ is half of half of 607 ?‘
6/7 le E n gne hundé\\w
08

6  Round e
7 % equals the decimal

08-04+0.2=

Find the 7th term: 1, 2, 4, 8, . ..

7x7-11+12=




5 €

1 76,68,60, 52 Rule =__
2 4x5+10+3=___
3 07m=___cm
4 75kg=____ g
5 8L=___mL
6  4:36 in analog
7
8
9
10

<& review purposes only

@ind the perimeter of a square with side lengths of 3% metres.

Area = length x width x height. True or false?

litres of water weighs :

cm sided cube has a volume of cubic centimetres.

All pyramids contain

All prisms contain

Tossing a head is a chance.



Add

Adjacent
Altogether
Analogue clock
Autumn

Bi

Centi
Centimetre
Century
Composite

Factor
Fortnight

e

Kilogram
Kilometre
Leap year

Litre
Margin
Metre
Millennium
Millilitre
Minute
Month
Multiples
Multiply
Nonagon
Octa
Octagon

differ
kO

To group together Penta
Next to Pentagon
The answer to an addition problem Perimeter
A sweep-hand clock

March, April, May Polygon

A prefix meaning 2 edra

A prefix meaning 1

. L
9

Product

d

Quadrilat€ra
A prefi Quadrtfple
) Quotient
A perio ears Regular (shape)
e egular s. ape
. Remainder
ne number is away from
o) umber
lit¥p into equal pieces or to Remove
A P qualp Rhombus
shape with 12 sides Riah |
To add a number onto itself 'ght angle
Round
12
How long something lasts Rule
A boundary Season
Sides the same length Second

Subtraction sums withl the same answer,

ETEVieW purg

What divides into a number .
Simplest form

14 days
The standard unit for mass Solve
Counting in lots Sphere
Divide into two equal parts Spring
Half a sphere, like a scoop of ice-cream Subtract
shape with 11 sides Sum
shape with 7 sides Summer
&shape with 6 sides Term
inutes Term
@ eaning 1000 Tessellate
R0 gfa ¢ Times

The standard unit of [ST el
1000 years

One-thousandth of a litre Week
One-sixtieth of an hour Winter
One-twelfth of a year Year

The answers to times tables
Count groups

A shape with 9 sides

A prefix meaning 8

A shape with 8 sides

yses-anly

A prefix meaning 5
A polygon with 5 sides

The length of the boundary of a
shape

A 2D shape with many corners
A 3D shape with many faces

A number with just two factors
answer to a multiplication

Havin

What is leflo
has been ¢

To take away
A 4-sided figure
no right angles

W’sid but
An L-shaped angle grees

To take a number t rest
10, 100, 1000 etc.

The pattern in a sequ’

A quarter of a year

One-sixtieth of a minute

To write a fraction using the smalle
numbers possible

To find the answer to a qum
A 3D shape like a ball *

September, October, NMer
To take away

The answer to an ad%
December, Januar a

Each member of@ue
One quarter%
i

To fit to o
Groups

imes, or to double

The corner where lines meet on 2D
or 3D shapes

7 days
June, July, August
365 days
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